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	Карточка 1.                     Задание 7
 12012 : 3 − 170 · 4.
51 · 8 − 51000 : 300.
 (475 + 201) : 2 − 192.
(2089 − 1903) : 3 + 236.
 (165 + 215) · 13 − 35.
	Карточка 3                         Задание 7.                                                           
18918 : 6 − 260 · 6.
72 · 9 − 68000 : 400.
 83 · 4 − 57000 : 300.
42 · 8 − 33000 : 550.
63 · 7 − 10500 : 150.
	Карточка 5                         Задание 7
2016 : (2 + 0 + 1 + 6) − (2 + 0) · (1 + 6).
33033 : 11 − 450 · 2.
16016 : 8 − 120 · 7.
14014 : 7 + 150 · 5.
 25025 : 5 + 250 · 3.

	Карточка 2.                       Задание 7
47 · 6 − 65 000 : 500.
(455 + 235) · 14 − 45.
15340 : 5 − 155 · 8
16320 : 4 − 263 · 5
12636 : 3 − 180 · 4
	Карточка 4                         Задание 7                                                         
(567 + 213) : 3 − 123.
 (689 + 307) : 6 + 234.
963 : 3 − (753 − 468).
2014 · (2 − 0 − 1 + 4) : (2 + 0) · (1 + 4).
15015 : 5 − 230 · 3.
	Карточка 6                        Задание 7
1001 · 34 − 280 : 4.
3003 · 12 − 720 : 9.
5005 · 16 − 480 : 8.
2002 · 16 + 630 : 7.
 4004 · 18 + 640 : 8.
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Ответы  
	Карточка 1.                     Задание 7
 12012: 3 − 170 · 4=4004-680=3324
    51 · 8 − 51000 : 300.=408-170=238
 (475 + 201) : 2 – 192=338-192=146
(2089 − 1903) : 3 + 236=62+326=298
 (165 + 215) · 13 – 35=4940-35=4905
	Карточка 3                         Задание 7.                                                           
18918 : 6 − 260 · 6.=3153-1560=1593
72 · 9 − 68000 : 400.=648-17=478
 83 · 4 − 57000 : 300.=332-190=142
42 · 8 − 33000 : 550.=336-60=276
63 · 7 − 10500 : 150.=441-70=371
	Карточка 5                         Задание 7
2016 : (2 + 0 + 1 + 6) − (2 + 0) · (1 + 6).=224-14=210
33033 : 11 − 450 · 2.=3003-900=2103
16016 : 8 − 120 · 7.=2002-840=1162
14014 : 7 + 150 · 5.=2002+750=2752
 25025 : 5 + 250 · 3.=5005+750=5755

	Карточка 2.                       Задание 7
47 · 6 − 65 000 : 500=282-130=152
(455 + 235) · 14 − 45.=9660-45=9615
15340 : 5 − 155 · 8=3068-1240=1828
16320 : 4 − 263 · 5=4080-1315=2765
12636 : 3 − 180 · 4=4212-720=3492
	Карточка 4                         Задание 7                                                         
(567 + 213) : 3 − 123.=260-123=137
 (689 + 307) : 6 + 234.=166+234=400
963 : 3 − (753 − 468).=132-285=36
2014 · (2 − 0 − 1 + 4) : (2 + 0) · (1 + 4).=5035*5=25175
15015 : 5 − 230 · 3.=3003-690=2313
	Карточка 6                        Задание 7
1001 · 34 − 280 : 4.=34034-70=33964
3003 · 12 − 720 : 9.=36036-80=35956
5005 · 16 − 480 : 8.=80080-60=80020
2002 · 16 + 630 : 7.=32032+90=32122
 4004 · 18 + 640 : 8.=72072+80=72052
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